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Find the numbers of squares.

T Bl GET ST DN |

) 100 (133 <§§:>
(c) 132 (d) 134






Select the option that is related to

the fifth number in the same way as

. the second number is related to the

Na*mc first number and the fourth number
Wis related to the third number.

2
\6'23 99 e o1 999 o o) ufedl wer |
3137 W 4 TR § A D T A
G ¥ e R |
Rf__Qq 19:338 :: ? : 700 :: 31 : 924
(a) 25 (b) 31

\/to) 27 @ (d) 28
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If Shoaib is shifted by 7 place
towards left. He will become 11 from
lefts and Sachin is shifted by S place
towards left. He will become 7 from
left. If the total number of persons is
50, what is the difference of their
position before shifting from right?

e g - IR 9Ead WM W
WIFIARd 8 ST 8| 98 918 3R 9 119
WM R 3T S 3R |fe 918 3R 549
WM W) Rga®d a1 8| 98 9% A Iraq

©F W 3 S| afe Aafhal a1 go
&1 50 B, A W W WHEidRd 89 9

et . :
Ugel 9o Refa # war 3iaR 87



If Mohan is shifted by a place towards
right. He will because 18 from left.
Rohan is shifted by 5 place towards
left. He will become 13 from right. If
the total number of persons is 60,
How many persons are in b/w Mohan
(from right position) and Rohan (from
left position)?

qf AiEd B U@ WM 9 el AR
RFaRa R far wg| a8 9v 9 189
WF W) 8N AeT it 3R 54 wH W
FIART & T 81 98 TR ¥ 139 W
W 8| I} AARFAl 9 Foa & 60 B,
ar /e QU wre {) iR Vg9 @¥ wE
) & 99 fdaw afe &7

(a) 10 ~—#179

(c) 8 (d) 11



26 43 66 93 22 33¢

AN A

2. 19 32 &)
z\/\/\/s

3

E

19

WO

Ad

What will come in place of question
mark (?) in the following series

frfoRed g@ar 4 w9 o (?) @ wM
WX T JATI?

35, 47, 66, 98, ?, 229, 336

(a) 125 (b) 175

(c) 159 9

ﬂ;;& @



Alphabet: S, N, M, Q,E,D, T, G, A, I, F

Symbol: %, A, &, ?,*, $,@ #, €, |, @

If the code for S is exchanged with F,
code for N is exchanged with I and So

on, what will be the code for word
“SAGE”?

(a) w’ &’ *’ (a (b) w’ I

/)oo&.?(a (d)ool?(a

~4) ©



In a certain code language
‘EDUCATION’ is written as
H_ T—, ® N ‘111231234967’ and ‘STOPWATCH’ is
written as ‘446621341210°. How will

\ \’ ‘BADMINTON’ be written in that
language?

T fAR9d §c w9 § ‘EDUCATION’ &
@ 12 3 2(\‘ ((,‘.} |(9 }l 13 ‘111231234967’ 3R ‘STOPWATCH’ &I
‘446621341210’ for@r SIaT 8| 99 AT

) “ 312 134 9 & + % ‘BADMINTON’ 9 fored) Smgef?

u-[:[' E{"’@ (a) 1313127107467
e RAdMINTON b
(d) 131213779467
REJBBMRIBIRY @ CI3TS] boyic
RR3RFI246 T



In a certain code language ‘BALL’ is
written as ‘-1’ and ‘GAME’ is written
as ‘2’. How will ‘YOUR’ be written in

that language?
U% fAREd ¢ WIT § ‘BALL’ @Y -1’ 3R
‘GAME’ &I 2’ for@r orar 8| 99 WNT o

‘YOI‘I,Rs’ &Y ford! STuEi?
(@) 7 T
(c) -5 (d) 5



Select the option that is related to
the fifth number in the same way as
the second number is related to the

first number and the fourth number
is related to the third number.

99 fdde &1 79 & o Uredl 9 |
" & 9 GeRd g iR arel W d
131_13 @ ¥ G 2
= 2 13:4394 :: 11 : 2662 :: ? : 5488
66 = 14 RE
25_; L ‘/::Tm (d) 17

syte = Y
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Select the option that is related to
the fifth number in the same way as
the second number is related to the

first number and the fourth number
is related to the third number.

S99 fAwey &1 999 & O Uradl S |
& |9 Aefd ? 3R ARl '@er
=T 9§ G 2|

ANAYA : 144 :: MARIA : 144 ::
ROHIT : ?
(a) 144 (b) 49

(c) 100 /m 1 @



What will come in place of question
mark (?) in the following series

ffoRed sf@en o wed e (?) @ ®IF
U} 7 3T




A is the daughter of B. C is father of
D. A is the wife of E. A and D are
siblings. F is the sister of E. H has
only son. G is the daughter of A. F is
the mother of J. I is the son of A. K is
the son of D. F has not any son. J
and N are siblings.

How is I’s mother related to F?

AABIIAZIC, DI AATE| A, E N
Uel 8] A 3R D 94S—984 €| F, E &I
987 8| H 9T Shaildl 91 281 G, A DI
S BIF, J B AT B I, A & 9T 8 K,
D &1 9ST 8| F &I ®Is 9T 18l 21 J 3R
N HIS—989 © |

ISP Al BT F A T G 87 @
(a) Mother / T

(b) Mother - in - law/ ¥
(c) Sister / 984
YA Sister - in - law / AT



Select the figure that will replace the
question mark (?) in the following
figure series.

IR 39 TPl BT WA Y o ffeRad

I HaEer ¥ g fe () & @M
oY |

(b)



Select the correct mirror image of
the given figure when the mirror is
placed to the right side of the figure.

o4 qUUT DI IMHIA & <18 AR @ Sl
g, A q TE AHIA P WE YT B BT




Direction: Some statements are given
followed by some conclusions.
Assuming the statements to be true,
even if they seem to be at variance
with commonly known facts, decide
which of the conclusions logically
does follow(s) from the statements.

fAdsr B $U IR S0 9 B =py
e M €| FFl B GW A §Y, WA B
d M dR R TG oA ¥ A= w8
g, fofg &f & @9 a1 Fspd qadTa v
H HUAT BT ATV HRT B |
Statement :

All team are Colgate.
No Colgate is Pitch.

Some pitch is Keyboard
All keyboard are Goggles.

Conclusion :



HH :
i W PIeric B
H1g Prere g =78 3
7o g FEE 3|
a4 Prars Ted 2 |
fsny :
X 1. % DEIE Dierie 8l 8|
Y 1. BB Flefilc IS §)
. 31 e &9 6 2

Xw.wmﬁeﬁa§|©

(a) All follows

(b) Only II & III follows
‘}q Only III follows

(d) Neither follows



Find wrong in the given series.
< T HGe # Teld ] |
7,64,441,2653,13255

S—
(a) 7 /‘8){653

(c) 441 (d) 13255
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(a) N is fourth right of M.
N, M$m@fiﬁm%l
(b) O is second right of M.

]
OMPIIAATRWARE S T& Y N @I 81 Q, P &

(c) Pisinb/w O & N.

P,OIRNDSH 2

L/UH'Q is second left of N.
0 :

,N & U TR ®F R g}

Six persons M, N, O, P, Q, & R (in
Army) standing at Triangular field
near border. The persons who are
standing at corners are facing outside
the table and the persons who are
sitting at edges of the table are facing
towards the table. R stands at one of
the corner of the table. Q is third left
of P. P is an immediate neighbour of
R. M stands in b/w Q & R. N neither
standing with R & Q.

Which options is correct ?

Beg afth M, N, O, P, Q, 3R R (T #)
m%WWﬁuﬁaﬁwwﬁlaﬁ

TR 93 & STDT & A Bl AR

IR WIH R g P, Rmﬁwq@@r
TIM,Q3IRRITITHGSIE| N
R3R QP 9 Gl 2|

P9 91 fadeq Tar 87



(b)

Select the set of classes the
relationship among which is best
illustrated by the following Venn-
diagram.

T D DU HE DI 999 X e 9h
&1 |9y f=falRed a—smE gRT |aaH
®U ¥ AT AT 2 |

Stratoshpere, Atmosphre, Exophere.

(d)




Find the number of squares.

I D G ST PN |

A« 14 (b) 13

(c) 15 (d) 12



How many circles are there in the
given figure?

& ¢ gl F e g &2




Statement:

“you are hereby appointed as
programmer with a probation period
of one year and your performance
will be reviewed at the end of the
period for confirmation” A line in an
app@intment letter.

Assumptions:

/ 1. The performance of an individual
generally is not known at the time of
appointment offer.

. Generally an individual tries to
prove his worth in the probation

period.

U

3MYBlI Uh d8 &I gRAAT J@fsr @
a1 MU & w9 A frgw fear T
g AR gfic & fau s@fr & 3ia #
AMUP Y-l &I gHEar & ey
frafe v3 & e df |



1. Fgfe uwae @ 99 (M AR W)
foddy afp &1 ugels sita Y sidar 2 |
2. Ak WX Afte gRdier Iyafer o
AU IIgar aifdd A BT YA

HT @ |
(a) Only assumption 1 is implicit

®ad g 1 fafea @
(b) Only assumption 2 is implicit

oad gren 2 fafga @
(c) Neither 1 nor 2 is implicit
T dl 1 3R 9 8 2 afifza @
\/d) Both 1 and 2 are implicit

1 31X 2 <41 Sfafifed &

0



(a) Only assumption 1 is implicit

ddd IR 1 fafgd @

) Only assumption 2 is implicit

dda g 2 fafea 2

(c) Both assumption are implicit
(d) Neither 1 nor 2 is implicit
Tl 1 3R T @ 2 afifza @

Statement:

In order to bring punctuality in our

office, we must provide conveyance

allowance to our employees “- In

charge of a company tells personnel

manager.

Assumptions:

1. Conveyance allowance will not

help in bringing punctuality
Discipline and reward should

always go hand in hand.

HA:

I BT H GHY Bl YEal a1 b
fore, g4 aue SH=aRal & arg 9«
UGl &l difsy “— Ud BUY-l B
YT S1ffie ydged 9 dad @ |

UMY

1. 98- 94T 999 dI gl o+ A
HGQ A8l BRI

2. JIJUNHA IR WR@HR B
HIA—H1Y del 91fay |



Statement:

The state government has decided to
appoint four thousand primary school
teachers during the next financial
year.

Assumptions:

1. There are enough schools in the
state to accommodate four thousand
additional primary school teachers.

2. The eligible candidates may not be
interested to apply as the
government may not finally appoint
such a larger number of primary
school teachers.

HU:
U WRPR 14 Il fadig 9 @

GRM IR BIR  ueafie  faerey
Rigasl & Frgfe a1 &1 Folg forn
8.

RO



1. 99 H IR gurR 3faRs urerfie
faemeay Brasl &1 guifoa a1 @
fore vaiw w@a 2 |

2. g9 SHfilGaR 3ATded HA H Bfd
Tel o 9bd i fe GBI Jdd: sd-l
el = # ypife fouem @
Rigal a1 FRgfe 78 s g |

\/(q'fOnly assumption 1 is implicit
oda grRom 1 fafgd 2

(b) Only assumption 2 is implicit
»da grRon 2 fafgd 2

(c) Both assumption 1 and 2 are
implicit

gROIT 1 3R 2 i1 3fdfqfza &

(d) Neither 1 nor 2 is implicit

T al 13 9 8 2 afafza 2
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(c) Both statement 1 and 2 are
independent causes

$AU 1 3N 2 T4l Wdd BRI &
(d) Neither

®lg 8l |

Statements:

1. Standard of living among the
middle class society is constantly
going up since part of few years

2. Indian economy is observing
remarkable growth.

DA
1. UBd & avf 4 weguafla waw
&1 Sffas TR MR %HUR of &l 8
2. ARA Jdaae 4 Ied@1g gfH
ol o1 @ 2

Statement 1 is cause and
statement 2 is its effect.

HAT 1 BRI B 3R HAT 2 SHDI

qTd 2 |
(b) Statement 2 is the cause and
statement 1 is its effect

9 2 HRU B 3NN HAT 1 SHBI
9q1d ©



What will come in place of question
mark (?)

ye fag (?) @ ®IM | & e
A> Cs4 Es
G3 Is ?

Ms O Qi \gg

(a) L1o (b) Iis

(c) Kis \}ﬂ) Ks @



What will come in place of question
mark (?)

v o (7) & ®IF W T SIe
3

(a) 45 (b) 41
(c) 32 (d) 40



< XGXY-s*ZHo
K Ux1=Q3L

e —

What will come in place of question
mark (?)

g g (?) @ WM W @R M

(a) 115 (b) 135

yso (d) 140 6’0



Pointing to a photograph Bajpai said,
“He is the son of the only daughter of
the father of my brother. “ How
Bajpai is related to a man in the
photograph?

U dWR $I AR TURT $¥d g
oAy 4 Hel, 98 N 9Ig b fUdr ai
ghaldl 41 &1 41 2| 9ol @1
picl ¥ fe@ = aafth 4 w1 499 27
(a) Nephew (b) Father

(c) Brother L}Hﬂhternal uncle

Y
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Profit, Dividend and Bonus.

TH, ATHTYT 3R 9199,




Paper, Stationery and Ink?

BTV, LIFR 3R 1817




Eleven friends M, N, O, P, Q, R, S, T,
U, V and W are sitting in the first row
of the stadium watching a cricket
match.

1. T is to the immediate left of P and
third to the right of U

2. V is the immediate neighour of M
and N and third to the left of S.

Q MV N g 0 1_ P R 3. M is the second to the right of Q,

who is at one of the ends.

4. R is sitting next to the right of P,
and P is second to the right of O.

U""Q T P R Who is sitting in the centre of the
Q RE 9 M, N, 0,P, Q,R, S, T, U, V
- MVN_S s w @R @ vgeh iR § Aoy

fpme g 3T @ 2 |



. T, Ph b arff i 82 3R U @
Y 3 R I ) @

2. V. M 3R N &1 ffidcaq geiHll 2,
RS @ 97 | (T 2 |

3. M, Q@ T ¥ TR WM W &g,
ol fadl te BIR R 2|

4. R, PP QU 7 ¥ 49T ®, 30 P,
O ® TIY GUR W W 2|

1 O 1 B ) s B )
(a) N (b) O
(c) S \Ad) U
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(a) If only assumption 1 is implicit
afes daa aron 1 fafga @

(b) If only assumption 2 is implicit

afe daa aron 2 fafka 2

(c), Neither 1 nor 2 is implicit
dal 1 3R T & 2 afifza 2

(d) Both 1 and 2 are implicit

1 3 2 g9 Safifead @

Statement: “send employee XYZ for a

training in UK to gain more insight
into the project which he is handling

at present.
Assumption:

1) Some similar training programs
are available in the employees own
country as well.

2) With the present skill sets,
employee XYZ is incapable of

handling the project.

HA: “HHANI XYZ Bl 39 gRATSAT
® 9 H 3Afrd ISR U dRA b
fog g ¥ uf¥igor & fay A6 fo«
98 qduE ®§ ST VET 2 |

€TRUTTU:
1) &8 Tq @ ulkieor  srisH
HHARAT & 39 29 ¥ ff SuaTer 2 |
2) 9dHT BIYA GC D G1A, HHARN
XYZ URAISAT HI GHTad H  3rgyef
2|



Statement: The municipal authority
has decided to demolish the old
bridge on a busy road for
constructing a new flyover.

Assumption:

) The traffic department may be
/ able to divert movement of
vehicles through alternate

roads.

) The people travelling in the
nearby areas may demonstate
to protest against the

authority’s decision.

®UT: TRUIfABT TIfSIHRoT 34 U ¢
Yargdiay & frio & fav e o

Assumption 1 is implicit USSP W UM Yo Bl saE DA DI

gron 1 fafga 2 foofa forar 2
(b) Assumption 2 is implicit  HRUITY:
grom 2 ffea @ 1) FarEad faar defeus ds&f @
(c) Both qegd 9 arel @) Jmareirel & ArsH
&It ¥ wew B addr 2 |
(d) Neither 2) ATHI & Foldl d IMAT B dld
®lg T8l AT WIS & HEd ® favig #H

a3-l &Y Gbhd @ |



Statement: Be humble even after
being victorious.

Assumptions:

1) Many people are humble after
being victorious.

2) Generally, people are not humble.

®F: faor 819 @ a1 ot fag & |
RO
1) g ol faordt &9 @ ac fasw @
WId © |

(a) Only 1 5] Neither
(c) Only 2 (d) Both
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How many meaningful English words
can be formed using the second,
third, fifth and seventh letters of the
word ‘KITCHEN’ using each letters
once in each word.

‘KITCHEN’ ¥l & ®R, dIW, Uiad
IR Wad e &1 YAD U H Ud
IR SWEIT dxa fbad Ayl FUoh

9Teg §TY W1 hd 8¢

\_urﬁ; (b) One

@ (c) Three (d) Four



h<qg M

G is fater than H but not as fat as M.
Q is also not as fat as M. who is the
leanest person in the group?

G, H 9 #ier 8 ofesr M foram ater

Te 81 Q ff M forawm #er & 2}
TE # ued qaal Afth I 8?

@Q A
(c) G (d) M @



8 persons- Amar, Ansh, Arun, Amit,
Ashu, Anup, Arif and Anil, are sitting
around a circular table facing the
centre but not necessarily in the
same order. Arif is to the immediate

left of Ashu. Anup is to the
immediate left of Arun. Amar is the
neighbour of Ansh. Amit is b/w Anup
and Ansh.Arif is not the neighbour of
Ansh or Anil.

Who among the following is sitting
third to right of Amar?

8 <ufth— IR, 31, 3Irevl, A, 3y,
Iqu, IR® AR LE |
W$wm$aaﬁaﬂﬁwaﬂa}

%’

aham$éhﬁélanﬁmamm
3ferer &1 gt =g 2|
frefafaa & 4 &9 IR @& <@ A
dRR TIT9 UX 99T 2°



Statement: severe drought is
reported to have set in several parts
of the country.

Courses of Action:

1) Govt. should immediately make
arrangement for providing financial
assistance to those affected.

Food, water and fodder should
immediately be sent to all these
areas to save the people and cattle.

DU QU D by fewdl # THR @I

TS @ Ga 2 |

i arfadr

X 1) WaR. yaifaa d@tm @1 qa e

EIAl SUdSE HRIA DI JdeAT DI
(a) Only 1 follows ST i"%q'
(b) Neither 2) o 3R WARM & 9 & fav
wOnlnyollows g1 O+l 31 4 ﬂ’\’ﬂ"ﬁﬁﬂ gl SR
(d) Both ART AT ST 91 |



